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QUESTION 1

What can you do in the remodeling toolbox? (3)

A. Convert an InfoCube dimension to a line-item dimension
B. Change the standard aggregation of the key figure

C. Delete a characteristic

D. Change the reference characteristic

E. Delete a characteristic of an InfoCube

Correct Answer: ACE

QUESTION 2

A BW 7.4 data flow has been working successfully for a while. Today the data flow resulted in an error after the
DataSource has been changed and reactivateD. What could be the possible problem? Select the correct answer.

A. The Transformation connecting the DataSource needs reactivation.

B. The PSA entries need to be reactivated.

C. The PSA entries should have been deleted prior to the DataSource reactivation.
D. The InfoProvider data should have been first deleted.

Correct Answer: A

QUESTION 3

A HybridProvider based on a RDA DSO is duplicating data in the standard InfoCube.
What could be the cause of this scenario? Select the correct answer.

A. Disable all unnecessary aggregates.

B. The associated process chain does not delete the DSO data.

C. The associated process chain does not delete the InfoCube data.

D. The Daemon schedule must be less frequent.

Correct Answer: B

QUESTION 4
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You have been asked to delete a request from an InfoCube. What best describes the situation? Select the correct
answer.

A. You cannot delete the request since it is compressed.

B. You cannot delete the request if it has a red status.

C. You have to create Aggregates before you delete the request.

D. You must change the request status to green before you can delete.

Correct Answer: A

QUESTION 5

Which of the following are true regarding an aggregate roll-up? (1)

A. It is needed every time new data is loaded into the InfoCube

B. It does not have any relationship to the availability of data for reporting in an aggregate
C. It compresses data into the E Table of the aggregate

D. It is the same thing as an attribute change run

Correct Answer: A
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